M8 - 10.6 - "a(x + b) = c¢" Distributing HW

Solve for x
2(x—2)=4
—2(x—1)=6
3(x+2)=10
5(x—=2)=10
4(x—2)=4
2(x+3)=8

—3(x+2)=3
—6(x—5) =30
4(x—1)=15
5(x+2) =25 9=3(x-3) 5(x—1)=-17 -2(x+4)=-10
—6(x+2)=18 18=-34—-x) —-2(x+2)=19 -31+x)=9
—4(x—4)=-64 15=-3(x+6) -7(1—-x)=2 2x—=-3)=7
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M8-10.6-" (c + e) = Distributing HW

Solve for x
! 2)=4 1( +2)=3
2 1 3
§(x+1)=4 E(X-FZ):E
3< n ) 21 1 32
[— P— x —_— —
2 2 —z(- )=—
3tY)=3
9=3(x-23) 1 1 5 3/1 3
1 @3 = gt =3 —5+e)=%
18=§(4+x) i 1( 2 5 1(2 1) 23
. — j— — (X — = — —_—— —_— ] = —
;(x—-2)= 4 4 2\"*72) 78
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M8 -10.6 - "— = ¢" Distributing HW
x+b

Solve for x

15
x+3

=5

x+3
=6

x+3
4 =
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